Exercise Le derive lle Complon scattering formula. (Source: Wikipedia) We consider the inelastic scattering between a photon and an cleatron which is initially alrest. The inelasticity implies that the photon transfers nonentur to the electron, and we allow for the possibility of the electron being accelerated to relativistic speeds pin ploton MAD (9) incoming photon and going algoing clectron The 4-monortum will be conserved during this collision  $P_e + P_Y = P_e' + P_Y'$ Separative inte components, netwo  $\begin{cases} m_e c^2 + h\omega = E_{e'} + h\omega' \\ \vec{p}_{Y} = \vec{p}_{Y}' + \vec{p}_{e'} \end{cases}$ 

 $(m_{e}c^{2} + h(\omega - \omega') = \sqrt{m_{c}^{2}c^{4} + \rho_{e}^{2}c^{2}})$  $\int c(p_{x}^{2} - 2\vec{p}_{x}\cdot\vec{p}_{x}' + p_{x}'^{L}) = p_{c}^{2}c^{2},$ 

Where we have used the relativistic dispersion relation  $E^2 = p^2 c^2 + m^2 c^4$ . Now, expanding and using E=pc, no have  $M_e^2 C' + 2 M_e C^2 h (\omega - \omega') + h^2 (\omega - \omega')^2 - M_e^2 C' = P_e^2 C^2$  $h'(\omega^2 - 2\alpha\omega'\cos\theta + \omega'^2) = \rho_0^2 c^2,$ and equality these two, we have  $2m_{e}c^{2}h(\omega-\omega')+h^{2}(\omega^{2}-2\omega\omega'+\omega'^{2})=$  $h^2(\omega^2 - 2\omega\omega'\cos\theta + \omega'^2)$  $2m_{c}c^{*}h(\omega-\omega') = 2h^{2}\omega\omega'(1-\cos\theta) \iff$  $\frac{1}{\omega'} - \frac{1}{\omega} = \frac{h}{m_{e}} \left( 1 - \cos \theta \right)$  $\int \lambda' - \lambda = \frac{h}{MeC} \left( 1 - \cos \Theta \right)$ 

This is the Compton scattering formula, and h/vyec is the Compton wavelongth.